Aptitude & Mental Ability Prepared By www.winmeen.com

Aptitude & Mental Ability Set 5

1. Simplify:
(3/8)° x (3/8)*+ (3/8)°
a.2 b. % c.3 d.1
&(H5H(S5.

(3/8)° x (3/8)*+(3/8)°
3. 2 3. 2 @.3 /. 1

Solution

When values are same then add the powers if it is multiplication and subtract the
powers when it is in the division.

(3/8)° x (3/8)*+(3/8)° = (3/8)°+ (3/8)°

=1

2. The radius of a sector is 42 cm and its sector angle is 60°. Find its perimeter

a.128 cm b. 44 cm c.88cm d. 126 cm
Qb el Ls CamesrliL@SHullest o4 42 Q&.15. wHmIb Sigest enwws Csmeserd 60° etesilev
DIB60T HDMEMEEIEUS ST656T8.

3. 128 cm - 44 cm 8. 88cm . 126 cm

Solution

Given :- Radius = 42 cm and Sector angle = 60°
Perimeter of a sector of a circle = [(9/360°)*2mnr] + (21)
= [(60/360)*2*22/7*42] + (2*42)

=44 +84

=128
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3. Simplify:
270:378
a.5:7 b.135:139 c.45:63 d.10:14
&(H5H(S 5.
270:378
31.5:7 <. 135:139 8. 45:63 rr. 10 : 14

Solution
270:378
If we divide by 27 it gives 10: 14
If we divide by 2 it will give 5: 7

4. A and B together can complete a piece of work in 20 days and B alone in 30 days. In how
many days can A alone complete the work?
a. 60 b. 50 c.10 d. 45
A wpmib B o SCwny Qenesothg) 6 Ceuemevenwt 20 mrerflepd wopmib B wl (B sesflwins
3185 Gauemevemw 30 mrerfleyid (ipliLif etevflsd A WL (HID SHevtlwing: Sibs Ceuenevemil 61856060
Brerflev (pigliLimy?

31. 60 =p. 50 @.10 . 45

Solution

A and B — 20 days

B — 30days

So, let's take LCM of 30 and 20. That's 60.

Remember: This 60 unit is the total work to be done.
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So, A and B do (60/20) = 3 unit work/day ...(1)
And, B does (60/30) = 2 unit work/day ...(2)
(1)-(2) gives

A does (4—3)= 1 unit/day

So, Total days req. = (Total work)/unit per day
A can do it in (60/1)=60 days.

5. In how many years will simple interest on Rs. 2500 at the rate 3% per annum be equal to
the simple interest on Rs. 1500 in 5yr at the rate of 7% per annum?
a.5yr b. 6 yr c.7yr d.8yr
erpuImil 250088 3% 6u(HL 6UL lpd (G &6vtl euLllauflev eu(Hd Qg Tenawb erpumil 15008, 5 eu(mpLLD

7% (2465879 (S 6U(HLD Sevfleul igu|d FLOWD 6T65TMHMEY, GILOMGHS 468T(H 6TEUE6TEY)

3. 5 o 6v01(h . 6 Sp6v01(h D. 7 oy 6v01(h . 8 op6001(h

Solution

SI:%

100

2500« N* 3 _ 1500% 5% 7
100 100

75N = 525
N =7 years

6. The height of a tree increases every year 1/8 times. If the present height of the tree is
64 cm then what will be the height after 2 years?

a.76 cm b. 80 cm c.8lcm d. None of them

Q(H LIS heooT(HEE 1/8 WLmE 2wrwndlng. sHEUTE bS WrssHeT 2wgb 64
QFestTIgLSL LI} 67651160 2 6u(BHLSH DG LIM@ DibS LoTSHS68T 2 WITLD 6TeuelsTeuns @)(Ha(&LWw?
3. 76 Q&.15 <. 80 Q&F.15
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®. 81 Q.18 . @emeu 6]5]L6l6v6mr60

Solution
Increase% = (1/8) x 100% = 12.5%
12.5

Height after 2 years =64 * (1 +=—= )?

100
= 64 x (1.125)?
=8lcm
Alternate method
Same as above method
Instead of taking 12.5 we will convert it as % which is equal to 12.5

We will substitute 22—5 in the plae of 12.5

Height after 2 years =64 x (1 + % * ﬁ)z

=64x9/8x9/8

=8l cm

7. If A's monthly income is 40% more than that of B. How much percent is B’s income less

than that of A?
a.28-% b.272% c.252% d.2429%
7 7 7 7
Aullest omg eupMesTd Bullest ng eugpwnenideng il 40% Hsw. eteor@eu  Aullstr
LOM&EU(HLOMEsTSH 608 il Bullest omg su(HLomesTid sTeusuerey (GHemmey?

4 4 3 3

Solution
Let us assume B salary as 100
A salary is 40% more than B so A salary will be 140

If A's income is Rs.140, B's income is less by 40.
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If A's income is Rs.100, the B's income is less by
_ 40 _ 4
=0 7100=28-%
8. Rahul borrowed Rs. 4000 on 7™ of June 2006. And returned it on 19™ August 2006. Find
amount he paid, if the interest is calculated at 5% per annum
a. Rs. 4000 b. Rs. 3500 c. Rs. 4200 d. Rs. 4040

gn@sv 7.6.2006 oiettmy em. 4000 sLesmsl Qubm emg 19.8.2006 iesimy SHl(pou
QFISSleoTT. 5% UL le SHevoTHEILLILILLTEL f6uf Q&S W QFHTens; sTeuause,?

1. ¢r5. 4000 =4. 3500 @. e, 4200 . o1, 4040

Solution
P = Rs. 4000
N = 73days/365

R=5%
SI:%

100

_ 4000%73%5
100365

=Rs. 40

A=P+I]
A =4000+40
Amount paid by Rahul is Rs. 4040

9. Base area of right circular cylinder is 80 cm? . If the height is 5 cm then the Volume is

a. 400 cm?® b. 16 cm?® c. 200 cm? d. ‘*?,ﬂcm3
(1 Crieul L 2 (Hememuilest HipLsss LpLiL 80 &.01&.18. 3igest 2w 5 G&.15. eTesflev 1566

FH60T 616
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10.

3. 400 cm?® <. 16 cm? ®.200 cm? . :ﬂcm3

Solution

area of right circular cylinder = 80 cm?
r? = 80 cm?

h =5cm

Volume = nr2h

We know mr2= 80

Volume = nr2h = m* i—o * 5= 400 cm3

Volume = nr’h = 7w * i—o * 5= 400 cm?3 H.C.F. of two numbers is 12 and their difference

is 12. Find the numbers
a. 66,78 b. 70,82 c. 94,106 d. 84,96

B etevmTaR6letT 15.QUIM.6u. 12 Sieumnflett ellSHWNFLD 12. Db 6T65015H6M6TTE SITETEIS.

3. 66,78 <. 70, 82 8. 94,106 r-. 84, 96

Solution

Hcf of numbers are 12 so the number must be divisible by 12
Let m and n be numbers m be larger number

m= 12 *k

n=12*]

Where k and | are co prime because 12 is hcf

Now m-n=12(k-1)

Hence 12(k-1)=12

Implies k-1=1
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11.

12.

So k and 1 are two consecutive integers and two consecutive integers are always co
prime

Hence any two consecutive multiples of 12 will follow your property -{(12,24),(24,36),...
(84,96)}

Find the value of 501 x 505.
a. 278005 b. 253005 c. 273005 d. 258005

501 x 505-68T &1L &mevor.

<. 278005 34 253005 8. 273005 rr. 258005

Solution

501 x 505. = 253005

The least number of square tiles required to pave a room of size 15 m 17 cm long and 9
m 2 sm broad is

a. 902 b. 656 c. 738 d. 814
151517 Q&.15, 915 2 Q&.15 18601 260 W 6(H SHevmuilev CeuwliLiL. Geustoriow! LE&EGHeDMHS

6TevBT6nDT SH6m Sl 6VITETT &I Ql60EMmEVSETT sTEU6U6TTEY?

1. 902 4. 656 8. 738 rr. 814

Solution

Length of the room =15 m 17 cm = 15 *100 +17 = 1517 cm.
Breadth of the room =9 m 2 cm = 902 cm.

The HCF of the 1517 and 902 will be size of square tiles.
HCF 1517 and 902 = 41 cm.

Area of the room = length * breadth = 1517 * 902 cm?.
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Area of tiles = 41 *41 cm?

1517%902 _

So, no. of tiles required = il 814 tiles.

13. Insert the missing number in the given series
5,10, 13,26, 29, 58,61, _______.
a. 122 b. 64 c.125 d. 128

Qan&EssUIULL QgTLIfleb afl(BLILL 6T655T6m 65078 &HT650T5.

5,10, 13, 26, 29, 58, 61,

3. 122 4. 64 @.125 /. 128

Solution

5*%2=10

10+3=13
13*%2=26
26+3 =29
29 *2=58
58 +3 =161
61*2 =122

14. The L.C.M. of 1/3, 5/6, 2/9, 4/27 is
a.1/54 b.10/27 c.20/3 d. None of these
1/3,5/6, 2/9, 4/27 —ett 15.@QUMT.LO

2. 1/54 4. 10/27 9.20/3 7. 61516)L616V6BIEV

Solution

LCM of 1/3,5/6, 2/9, 4/27 = LCM of numerator/HCF of denominator
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15.

16.

= (LCM of 1,5,2&4 / HCF of 3,6,9827)
LCM of 1,5,284 = 20

HCF of 3,6,9&27 = 3

=20/3

An increase of 20% in the price of mangoes enables a person to purchase 4 mangoes
less for 40. The price of 15 mangoes before increase was

a.Rs. 10 b.Rs. 15 c.Rs. 20 d. Rs. 25

mbupsHlest ellenev 20% hHsflEsmeo meuy 40 eHUMLSE [HI6dI(E, LOMDLILPMLISET
(GHEODEUTHSHSTET UM (Plewld 6Tevflev allemevBuHmEHEHM& (pedrestmev 15 ombLLprbisertlsbT
allemev eT6tTEBTOUNS E(HHS) (HEHSLD.

. ¢m. 10 . €. 15 . em. 20 FF. €MH. 25

Solution

24 mangoes CP = Rs. 40
_ 40

1 mango = ”

15 mangoes CP =£ *15

=Rs. 25

The area of the largest triangle that can be inscribed in a semi-circle of radius 4 cm is

a. 16 cm? b. 32 cm? c. 64 cm? d. 128cm?

4 Q5 LemT STONHE OCETEITL  eoTallLHHletr 26T Seobhs BlsLGLIflw

(P&CamevodSHlest LIFLILIeTEY
.16 #.Q&15 .32 50815 8. 64 5.Q&.15. . 128 #.05.15
Solution
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A semicircle has the largest triangle's base as its diameter, and its perpendicular or
height as its radius
The area of the largest triangle that can be inscribed in a semi-circle = r?

=16 cm?

17. The proposition 1(pvq) is equivalent to
a.pvq b. Tp Alq c.lqgVviq dprg
1(pvq) e165TD Fo.MHMI5H(S FLOLOTESTS)

3. pvq 3. Ip Alq @.1qV1q F.PAQ

Solution
The propositions are equal or logically equivalent if they always have the same truth
value. That is, p and q are logically equivalent if p is true whenever q is true, and vice

versa, and if p is false whenever q is false, and vice versa.so Tp Alq

18. If £=1 = 4, find the value of x
x+1
a.4 b.5 c.3 d.1l
’;2: = 4, eT65fl6v X-65T LDEILIL| &HT6EoTS.
.4 b 5 8.3 . 1
Solution
x2-1

x+1
x? — 1 which is in the form of a? — b? =(a+b) (a—b)

(x+1)(x-1) =4

x+1

X-1=4
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X=25

19. A can do a certain job in 12 days. B is 60% more efficient than A. How many days does B
alone take to do the same job.
a. 6 "2days b. 6 days c. 7 days d.7 Y2days
A erettusu} 6(H Gouemevemwt 12 Bl serflev (&S mmy. B etettLieu; Agg afl 60% ellemyeuns

WLy etesfley, 2188 Geuemevemw B gevflwins et gement BL&eiflev (piglilimy?

. 6 V2 BLGe6iT 3. 6 BILG6T
Q. 7 BILgel Fr. 7 Y2 BT &61T
Solution

60% more efficient means B can do 160% of work in same no. of days as A takes to do
100% of work.
160% work in 12 days

100% work in x days

_ (12%100) _
160

X 7.5=1T %2days

20.There men, four women and Six children can complete a work in 7 days. A woman does
double the work a man does and a child does half the work a man does. How many
women alone can complete this work in 7 days ?

a.7 b.8 c. cannot determined d. none of these

(1 Gouemevenwl 3 pevT8H(EHLD, 4 CILIETITSEHLD WHMID 6 AmieursEnw Cainbgl 7 BHIL&EHLD
QFgl (Pi&HlETDOMTSH6T. 6(H L6t Spemesseul. Q(HOLMLIEG CEFWSDI6T. 6(F Fmieusst
opeustlett LNHlGeusmevent QFWEH MMTH6T. ibgH Geuemevemnwt GLessEsT WL(HD 7 HI6T

QFWE MITSET 6T6sTMM6L, 6158651687 GILIGTITSHET 21HSH Geuemevsmn O\&IeUM &H6IT?
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3.7 3. 8
8. sevo1(hUligss (Plouwing) FF. @6m6UWITEYLD {6V6V
Solution

2 men =1 woman

l1man = ; woman

3 men = 2 women

Again, 2 children =1 man = % woman
1child = i woman

. 6
6 children = ; = women

N | w

Now, three men, four women and six children
3 3
=2+4+-=7Women

Hence, 7 women complete the work in 7 days.
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